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1. (a) Evaluate

ANSWET (3).veviieereennenennne [1]

(b) Express 72% as a fraction in its lowest terms.
Answer (D)....ooevervieeenns [1]

(c) A=h(4m +h)

Express m in terms of A and h.
Answer (C).....cccoevuenne... [3]
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2. Factories

(a) x*+x-12

Answer (a).......c.oeurernene (1]

(b)  25x%—4y?

Answer (b)......ccoeeeveeenee [2]
(c) The cost of a mirror is directly proportional to the square of its width. A mirror of width

40 cm cost $ 24. Work out the cost of a mirror of width 60cm.

Answer (€).......ocovverree. [3]
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3. (a) Solve the equation

Answer (@)......cccovuneiininnn (3]
(b) y isinversely proportional to x.
Given that y = 250 when x = 4 find y when x = 80
Answer (b)................... [2]
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4. (a) A cone has a base radius of 8cm and a slant height of 12cm.Calcuate its vertical height.

8
Answer (@)..cooeevnennen. [2]
b) If y is inversely proportional to 72 + 1 and y =32
When r = 1,find the value of y whenr = 7.
Answer (b)..................... [3]
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{a) 17
(b) 4

() (0.2)°

Anawer (a) (1]
(b) (1]
(c) (1]

(d) A pyramid has a square base of length 3cm and a slant height of Sem
Find the volume of the pyramid.

-~

Answer (d).. v 2]
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6.
(a) a’ ' a
AnSwer (3)...ccceeerenenns [2)
1/3 . 2/5, 3/4
(b) (a " b7
Answer (b).......ccovueuces (2]
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7. Solve the simultaneous equations:

(a) 4x — 3y = 14

Answer (3)....cccceeerereeneens [3]

(a) ABC is an isoscles triangle with AB=BC and AC=32cm using as much information from the
table as is necessary, calculate AB.

B
Sin@ 15/17
Cosf 8/17
Tané 15/8
A C
Answer (b)..........cccu..... [2]
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8. (a) For the giving right-angled triangle find:

(i) sinP
(ii) cos P
(iii) tanp

R
q
r
]
P 0 Q
Answer (2).......coeeeveruennns [3]
3x+1
(b) Solve the equation xz - §= 1
Answer (b).....oeeivvennen. (2]
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9. (a) yisdirectly proportional to square root of x.
Given that y = 12 when x = 36 Find

(i) the formula for y interms of x

ANSWer (i)..ccccveninnnnnnn [2]
(ii) the value of xwheny = 10
Answer (ii)..coceecieeneeneens [1]
(b) Find the volume of sphere of radius 3cm.
Answer (b)...........cooeene [2]
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10. (a) The area of square is 36cm?.Find the length of the diagonal.

Answer (b).........ccccouneen. (2]
s e 2 x-3
(b) Express as a fraction in its lowest form — —
3x  10x?
Answer (b).....ocoeeveuecennne [3]
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